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Determine the slope of each line using the highlighted points. ’ !
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Find the slope of the line containing each pair of points. Sketch a slope triangle to visualize the
vertical and horizontal change.

4. (2,3)and (5,7) 5. (2,5) and (9,4) 6. (1,-3)and (7,-4)

7. (<2,1)and (3,-3) 8. (2,5 and (4,5) 9. (5,8)and (3,5) b

Use a slope triangle to find the slope of the line containing each pair of points:

) 10. (50, 40) and (30, 75) 11. (10, 39) and (44, 80) 12. (5,-13) and (-51, 10) } ;f.
| .
I

Identify the sl d y-i in each i ‘\/;mx ¥b W (s e Stope | ¢
entify the slope and y-intercept in each equation. e q ade (""W'?

13. y=1x-2 14. y=-3x+5 15, y=4x 18

16. y=—2x+1 1T J=B—7 18. y=5

Draw a graph to find the equation of the line with:

19. slope = %and passing through (2, 3). 20. slope = % and passing through (3, -2).

21. slope = —%and passing through (3,-1).  22. slope = —4 and passing through (-3, 8).
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- : > . th x and y.
of change is pos or negative for bo Y

_ine the rate of change and the equation. Be sure to record whether the rate

24. 28,
x|-2[0 |2 )46 x|-6]-3/013 | 6
yl713 19155159 yl3l-1l1 1315
o the slope and y-intercept, determine the equation of the line.
Y
y £ 27. y 28. y 29. V.
A o] A x e A X | A x
=P =3 3 =3
Graph the following linear equations on graph paper.
30. y=1ix+2 31. y=-3x+1 32. y=-4x
33. y=2x+1 34. 3x+2y=12
102
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Answers

21, y=—

25. %'; =

30. y:%x

13. 1;(0,-2)

17. i, =)

29. y=-2x+4

10. -

18.

22
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